20234% RRDCHIR 3383

3H

48

Blr| X E1 E2 [alw] X E1l E2 |=
ER T8 RS T 1
AREEE %M | 2|8]|® 10:00~|® 8:00~ [ HAE ] 2
3| ©m T 38| = T |3
AN . . A T 4
5(H|@® 10:00~ FA=FATUZE 5|k TEHA EH |5
68| =M w8 |e|x| T |6
7] = T8 7|&| = T 7
8 |k T el HEEEE EH 8
o|x| =m S EE BEISAZHS 9 5
NEEEE T NEIEEE w8 [10[k T T
1 +] = T 1] = T 11| = T
12[ 8| ® 10:00~ [ AR 1 2] 7k w8 | wm (2] wm [ w2
13l A] = e [13[x| = SRR s BEE
14| ] = T 14| &] = THA 14| B [fEgN0s
15[ K + e SIS T
17| & Bl =m e [17]K T T
18] + w| T 18| A&| T
19 5 K T e [19[2] = T
20[ B x| w8 [20[+] = T
21| K & TEHR EHA 21| H| & 10:00~| @ 8:00~| & 8:00~
22[ K E M szzsk ES 22[B] = T
23| x| = e (23] 0 23] wm EHA
24| = T IS e |24] K 5 EHA
25| +| = T H T 25| & A“ZMLYS* 200mIM
26|H|® 10:00~1 7K TEHA EHA |26(|& TEHA TEHA
GIEEES raul B ES N RN PLYY ETERR A T
28| x| =M EH 28|2| wm | wm | [28]B[® 10:00~[@ 8:00~ [ AEE
29[k TH il BB RIS T
30[&| Em 2l ENE 30|w|  wm T
3i[&| =M T 31] T T
*x BRASPE *x BRATE * BRRSPE
4-58 $1=FATUSk 15-16H RRMI1-7ES 6-78 EREBII=FEK (12FUT)
27~308 2£EI0  [EiE] 22-23H ERHGES(PFEULOFE)| 13-148 BRSY1=PEK (13FHUL)
* RAMFELYY * RAMFOLOS * RAMFOLOS
16H 200m{EIAARL— 27H B H 25H 200mfEAARL—
*x THEHSRHE [8:00~9:20] * LTHEHSAHE [8:00~9:20] * TREAZAHFE [8:00~9:20]
*  ® HEIEeE *  ® HBIEE * @ HRGE
5H X[IO:OONIZ:OO] 2B E1[8:00~10:00] X[10:00~12:00] 21H E2[8:00~10:00] E1[8:00~10:00]
12H X[10:00~12:00] 21H X[10:00~12:00]
19H E2[8:00~10:00] E1[8:00~10:00] | % L= RS 28H E1[8:00~10:00] X[10:00~12:00]
26H X[10:00~12:00] 9H EFISAZHK[9:00~11:00]
Y- * thEE * 8
218 &EH0H 4/29~5/5 BREMMEDISREFTVET] [4/20~5/5 BSEMABDASHETVET]
REDRBEHSHVELET RENRESMELUELET




